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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TS FACARA fre P T ford

(@) Which measure of central tendency is
known as positional average?

R LRIOR FAD (FF TS 9T I
ERIRIER

(b) What is the SD of the following values?
157 T Ty T
el AR T [{ver & 2
T.0, 00T
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(2)

What is meant by ‘Kurtosis’?
T Il Ifera R 3@ 2

What does r =0 signify?
r=0a &% 3@

Define a random variable.

yfoas Bered e e |

In a Poisson distribution mean =7,
variance = 8.

(Write True or False)
GBI *Hb’ IBTS 9T = 7, PRI = 8,
(2 7 =rRym o)
E(c) = ?, where c is a constant.
E(c) = ? ¥’S ¢ (R 901 £7F |
If P(A or B) = P(A)+ P(B)- P(An B), then

what will be the nature of the events
A and B?

I PA FRa B) = P(A) + P(B) - P(An B),
(SR’ A S B (I 43167 6+ 2

What is joint probability distribution?
Afsrs el Reaq & 2

When does a sampling error arise?

A5 S @ fem 2'F “g 2

( Continued )

2. Answer the following questions :

(3)

e 2R Tel A3

(@)

(b)

()

(@)

(e)
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For any two unequal positive numbers
a and b, prove that AM > GM.

RCITCA! 701 SPH NS R a |E B A
o9 F91 7 AM > GM.

What is the probability that a non-leap
year will contain 53 Fridays?

B S-SET A 5301 WHFH  CTRR
FeIfor 9 2

If the covariance between x and Y
variables is 12 and variances are 16 and
9 respectively, find the correlation
coefficient between x and y .

3fi x SF y P 5o T 12 T HE PR
TYEE 16 F 9 W, (SR T DAPONR TEw
TR el |

If X; is a random variable with

respective  frequencies  f;,  where
i=1 2 3, -+, n, show that E(X)=X.

I X, 9ol A0S beTe T I[ IRDEW f; =,
TS i=1,23 -, n, (OFERE G A
EX) =X. |
Mention two methods of random
sampling.

yfoes SifS5aa 151 &l Tras 30 |
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3. Answer any four of the following questions :

5x4=20
et il TR R nikeR Seq f

(a) Find the first four moments about the
mean from the following distribution : S

Oz & A S (CTE IGIR o/ A9 HRG g
Tferer :

Heights (inch) : 60-62 63-65 66-68 69-71 72-74
ey (3f4s)

Frequency - 5 18 42 27 8
ﬂﬁ'\‘aﬁwl

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and —1. 5

YAl (@ I PIRbTR Tomaas 2 +1 S
-1 9 95 91t |

(c) Define conditional probability. If
P(A)=0-4, P(B)=0-7 and P (at least
one of A or B) =0-8, find P (only one of
A and B). 2+3=5
v Teifder e i | w4fy pa) = 0-4,
P(B)=0-7 W% P (FICF A 7% BY <)

=0-8 =W, (SR P(A W% B1 Rce
9B1)q FEifaer e |

( Continued )
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(5)

(d) A random variable X has the following
probability distribution :
a1 AR T X @ TR RIfel ITR

wiyae I F¢9
X : 4 5 6 8 9 1k
B 800 03 104 w02, 05 0:3

Find mean and variance. 5
STG S 2P7a¢l e |
|

(e) Explain the principal steps of a sample
survey. 5

sifeve afed [RfSH TR SACEABAT F47 |

Answer any four of the following questions :
10x4=40
e ReIeTl BIfR0! 2 Ted fordt

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :

fivgad Wi %2 TR [fon @reEr (&2 oo
SIS “4T oee Sferea ¢

Age (years) : 20-30 3040 40-50 50-60 60-70
77 (IF)
No. of persons : 170 110 80 45 40
T R

Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10

R @l e A @ 3 @
77
( Turn Over )



(6)

(b) Distinguish between positive and

(c)

22A/41

negative correlation. Find the rank
correlation between X and Y from the
following table :

LIS IIF 4 ST e 541 | ©oe
fal PR 71 X W v o o
S\?5!%'[\‘33'!:

£ % 15 19 18 10 I7 22 8 13 12
Yo i BRI 0023 W8 B9 12516111 167115

Analyze the result.
FeArFe Rease 31 |

State and prove Baye’s theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn
in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not
replaced after each draw?

TIAOR (3’7 TACH! @ S e <47 | 4
b1 eizS 1051 @0, 651 e W 357 A =
AT SIF O >R GB1 GO fofiDr 901 oy =9
LI ﬁﬁfﬁﬁﬁwﬁmmwwﬁ
frem =7, (TR TR T, q81 F 3511
3 1] SR e 9

{ Continued )

3+5+2=10

5+5=10

(@

(e)
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(Z)

Obtain the constants of a Binomial
distribution. In an intelligence test of
1000 childrens, the average was 42 and

SD was 24.

(i) Find the number of children
exceeding a score of 50.

(i) Find the number of children lying
between scores 30 and 54.

(iiij) Find the value of score exceeded by
the top 100 children.

fRom %R foq TMIR a1 1000 PreT

3 =R GBS TS A 42 WF T [oe

24.

() 5oetF wfe T e PreT R
Bferear |

(i) 30 WF 547 TES I (NI FroT sikam
Tferedr |

(i) Hfds T8 @ 100 & PRy Sigm
fere |

PO < z<-33)=0-1293,
PO < z<-5) =0-30854

(i) Distinguish between probability
mass function and probability
density function.

( Turn Over )
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(8)

(i) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
% % and 7 respectively. What is the
probability that the problem will be
solved?

(i) Under what conditions Binomial
distribution tends to normal
distribution? ‘ 3+4+3=10

(i) SIS $1 Ta % ISl 978 To
“f12(s foram |

(@) 3 T REmR 961 5597 A, B SF C3
T S i W W e R
B W @wEa 1, Lo Lo,
COCTR’CE STPICe S (2 Sl
5 2

(iii) (FF @FH 599 FUES GoW I FYE
A% Afada 70 2

() Explain the different types of sampling
with their relative merits and demerits. 10

dfeva fRifSe ez Sl aaer oe
SHTCEAT 41 |
* * Kk
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